A a2 ) giaa Al gi ) o jladi gl © (Ll B

Mo g 2k ) Slles slowl il addl slas 155 56
kel hdos nlplondl gl s itals sl o
result=5+6 = led ool e oolind (expression)

LT T

2oz L oSG o (operator) Slee S5 5l Bl o le S

,f-l-n-ﬁ e 005 |SC25 (operand) sigles
/\ Sles S, 45 result jize 5 F5 0 ale solael 4
result= 5 + 6 N S DT E S P P P

\T/ S plodl Sl 45 = 5+ cdle wxle bacwdle 4
‘H l l'ﬂﬂult: J;.-Bﬂ'u..u‘,fl,.:;m Lmaa|aj.lmj:.§:.¢ ngjL}..p.l:

o olg e a5 ol lams g Lol> ()l o le 2

oed eals ol e SO

; . - . e
S et |y Sl Slle olo Sles g ladigles ) Jga o R

W

@)k y0 wigles g Slas ololid ) Jgua

wigles Pdles ojle

7-13+12

a-b*2




Sl uled 25,5 0 e O jgods WiriteLine LWrite wia L, o le Lol> a5 s

Console.WriteLine(6+5);
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Console.WriteLine("------ family size in IRAN -aeemm "):

Console. WriteLine ("Enter Population:");
long populate = long.Parse(Console. ReadLine()):

Console. WriteLine ("Enter number of family :"):
numFamily = long.Parse(Console. ReadLine());

float familySize = populate / numFamily:
Console.WriteLine("family size in IRAN: {0}". familySize):
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float familySize = (float) populate/numFamily:
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int count101, count102:

Console.Write("Enter count of student class 101:"):

count101 = int.Parse(Console.ReadLine()):

Console.Write("Enter count of student class 102:"):

count102 = int.Parse(Console.ReadLine()):
Console.WriteLine("count of students class 101={0} ". count101--):
Console. WriteLine("count101={0} ", countl01):
Console.WriteLine("count of students class 102={0} ". count102++);
Console.WriteLine("count102={0} ", count102):
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Console. WriteLine("count of students class 101={0} ", --count101):
Console. WriteLine(" count of students class 102={0} ", ++count102);
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Console.WriteLine ("count of students class 101={0} ", count101--);
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Console.WriteLine ("count of students class 101={0} ", count101);
Countl101--;
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Console.WriteLine ("count of students class 101={0} ", --count101);
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--count101;
Console. WriteLine ("count of students class 101={0} ", countl101);
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it a=5+7;
string s= "ali"+"reza";
string count="count of pencil : "+100;
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string s = "al1";
st="reza",
Console. WriteLine(s);
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Console.WniteLine("flag = {0}",a>10);
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int iranWater = 190;

Console.WriteLine(" The average consumption in IRAN -> " + iranWater);

int worldWater = 135;

Console.WriteLine(" The average consumption in WORLD -> " + worldWater);
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Console.WriteLine(" Is iranWater = worldWater: {0} ", iranWater > worldWater );
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bool flag=false:
int score=7;
Console.WriteLine("score = {0}".score);
Console.WriteLine("1s student passed: {0}, 1s score=7:{1}" flag==true,score==7);
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it num1:
Console.WriteLine("Enter num1 : "):
numl=int.Parse(Console. ReadLine()):
numl-++:
numl*5;
--numl;
numl/2:
Console WriteLine("num1={0} ", numl);
Console. ReadKey():
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bool result = true:
Console.WriteLine(result > 0):
string s1 ="Ali";
string s2 = "Reza":
sl +=s2;
sl =51 -s2:
float =100 - s:
51 =-s1:
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int booklet, children:
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Console.WriteLine("Enter number of booklet : ");
booklet = int.Parse(Console.ReadLine()):
Console.WriteLine("Enter number of children : ");
children = int.Parse(Console ReadLine()):

int count = booklet / children:

Console.WriteLine("count={0} ", count);

Console.ReadKey():
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